
<<РшЬшрЬпшr|шЬ[t

<<(шчtлшtltпrd bti>>

Цц/гlЧ>> 4lпцЧ-h rrrbopbb'

U.llпr2frl,цшtl

15.02.2021р

О Ь rn rч Щ 
rчЬ р1 п rgb [r rl [r2 п gtl Ь р tl. h:zлlhЬ \ ru ur ru р r[b фр

4tlnrdtrbpfr щlшtr 2021 р

cl rч rn ф р rч чr п r' Ч п rл tu;ph rlrч р ф << 9tuЬ tupb nru {ruЬ [r цц4l ч /п п цч>>

Uпшqhп
ЦЬr{шЬпtdц
ешОРU 1, ftnrrJp 04, цшч 002

U|rшr[пр[t
qhbn

Pruhtu\p

СtlцшrIЬЬр

0ш[ччЬрц
/hruq. цршrl/qtf шfu rчпшр\rчl[r rutlr[ruhnrf ц

Qhrltцb

Ьtдп

|/цhршgtч

lцrпqпu

Qrчфrlшt,

rf}rru{npp

UПgщчgпч

\пцц'цчtп
cPv
цruuul\tupq
.fr..tl

ш.пгцъръьг

78q<
q<

hrли 39 2000
33661,121л ш gbrrr h Lu ш ф g [t [ш Jарп t

r}|rLllп$ЬЬшЧ hши 32 800 25,6

33631310л 100 3,2q< hшtл 32
пhllrпsььш1,1 2433631310/2 htлtл 800 30
4hЦtпShLшЧ

q<
13,833631310/3 q< hшtл 23 600

ЗГOзlzgOл 800 80 64q< hши
33631290/2

50 5,3
!l lLu

q< hшtл 106
33651145

фрчшdhtлшqпu, чtrпчп9JIu

(bbntl|rg|rL[r чпrlSшrrr),

rrlnrhrJhouu'hb В hшш 15 800 12

tJbtlnqhr}tl
1л
iп 150 7,23369120U q< hшtл 48

33691186л 160 10
,1,6

-qaq<
hrлtlt

ззоzzgо hши
hшшt

тГТlд 5,4

ззOgttдs UrЕtlhqhntilh чпцфшtл 970 40_q<
ГзOslttt цuоЕ!чшqlllllu

,rhtl+ оtшilпцшttшррПt
q< hr 2010 40 O\,lr

33651112л 1,Innr rhпh 200 80 16q< hшtл
14,4ззOsttlв 5ЕФч q< hшtл 18 UUU

[шп$шпl"
obr lnttlnn

25!8_ 70336211l0 т< hшш 28
3362172012 hшшt 48 300 14,4- l || - -

hqnunnphr}h цtЦ!ипши_
q(

33621370 1000 6,5q< hrлшt 6.5
33621380

lа},лапr lht
89 800 71,2

"r,Ih 
щ фЕr,h щлрrпп n рh,ф ц

q<
q<

hши
33621560 5 1500 7,5

hшtл
33621590л 100 3,5\rrllL| lI lччul,l t

Snrpnubrl[tц
q< hшtл 35

33621590/2 2500 60q< hшtл 24
33661121/2 шgЬш[rlчш[h9h[шррпt 600 60q< hшtл 100
33621140 2000 120ъlLr lчlll fl lчl ,gL

Ц*пЩ
q< hшцt 60

33621420



lh q< hши 14 2500 35
33611100

q< hшr,п 81 500 40,5
33691176 ш1l4Ьlпрш.lр

hшшt 14 600 8,4
33642230 tlrnBhnopuhtl

q<
q< hшrл 15 500 7,5

33671,113л UшtрпrrлшrJпt
hшrл 1000 15 15

33671113д lllltnnttnmfnt q(
q< hши 5

41

800 4
33671114л ЦdhtlnShфtl

100 4,1
з3671114п Url|tlп$!фЬ

q< hши

33691136 .nbnrrlh nlnnhn q< hши з50 40 14

q< hшrл 800 50 40
33611360 fuпlЬQшр|фЬрп1

q< 1700 7,5 12,75
33631250л [ршLп1

hшrл 150 20 3
33141115 PdrtlmЦmtl ршdршЦ Lru

q< hшr.rt 7 2000 14
33621760 httшLшщп

шdrппhщhtl
q< hшtл 22

32

1200 26,4

2000
64

33621520
Е(rшlшщр|rt (l 0шlшщрРlР
r]tllt hшtл). hhппп pr пппвhшqhп q< hши

33621100 БййТТ Ьшир[rпrrl q< hшtл 700 2о 14

33691144 0шrлпhпrr)h рhпчпt[Sшtл
q< hшшt 54 60 3,24

hшrл

hшtл

16,5 600 9,9
з3621750 0h$Епhщh0 q<

54 1000 54
33691231

qПtgfiПф Llшррпt'ши,
lчпlЕЦшLgh$Ьппt

q<

FФПЙЦrцt, t2шfu rч\пrр;шh

rцrчпrцqrцfuЬр _
l.rц hшrл 5000 2 10

33121180 шtl Otlzrlmtr lшфrlшtl чшпр

uцшпhьhцtцtцдд uц hшtл 6 1000 6

Lшрпрrчrп пр пЬщЦцЕlЦЕп_
,l000 120

33211120л
qцпrt4пq G-col /qцпr1,1пф прп2rlшtl

рhчрhшr{шршбпt uu
hшrл 120

3321112012 tц
hшr"rr 120 500 60

еъ,}цUьъЕ


